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1. Choose the correct answers from the10—10
following : 1x10=

(a) WhO among the fOl].OWiI'lg ;‘:SSEZE
regarded as n thinker of the ¢ :

school of management ?
() Henry Fayol

(i) Max Weber

@) F. W. Taylor

(iv) A. H. Maslow
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(b) M.B.O. (Management by Objectives) is
also known as :

(i) MBE (Management by Exception)
(i) Management by Resylts
(i) Management of Change

(iv) Professional Management

(C) . Organisation chart ShOWS 9

() communication chapn,
(ii) leadership styles

(iti) structure of relationship

(iv) span of contro]

’ participation iy
d) Workers pal . Mangge
(d) is best achieved with Whie gCment

following leadership Styles » of the
i LaisseZ-fail‘e sty1¢

(i) Democratic type

(i) Autocratic type

(iv) Contingency type
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(e)

(9)

4 (Sem-~

The exception principle to control
means —

(i) control over all deviations
(i) control over significant deviation
(iii) control over nominal deviation

(iv) control over no deviation

Who advised substitution of functional
organisation structure in place of line
organisation structure ?

() Henry Fayol
() McFarland
(i) F. W. Taylor
(@) L. A. Allen

achieve overall

The ]
PEn.... £l fled

Organisationa] goa! i$
()  Tactical plan

(1) Strategic plan
(tii) Standing pla?

() Operational PI*"

Contd.
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(el whigh theory g
approach to ma and % :
with ? flagement js associ:fertli

(i) Operational theg
(i) Systems theory Ty
(i) Quantitative theq

.‘{iv} ‘Contingency theog

(i) Which one of the fo)

6rganisation ?

(1) Permanent job

(ii) Flexibility

(iit) gkill focused
manDOW

(iv) Diverse workforae 8 Figeds

() Which (1311: the followin
hu_man 1te miy be advegr aSpects  of
owling . o Verdepe Sey aff fo)
electronic tools ? Ndence ected

Upon

(i)
(i) Family life
Mental health

Personal life

(i)
(iy} All of the aboVe
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win
Give very short answers to the following

questions :

(@)

(@)

nx5=10

; ber’s
Mention two limitations of We

Bureaucratic Model.

. it tween
State two major distinctions be

i B nd
Management by -".ObJ;;:;lr‘fs P
Traditional Goal Setting

tion of

authority,

ement by
What do you mean bY N8

€Xception ?

- - petween
(6) Give two Compa.rlsons
Planning oy, forecastin®
tions given
Write short answers to the i - 5x4=20
elOW . (aﬂ. .
: Y four) i _ &
: ¢ pusiness
(@) What are the aCtivineslof
divideq by Henry Fayo ¢ control in
o
) State briefly the proces®
Management, ¢ 1ea(.’lcr;.;hip
0
{C) DISCUSS th importaﬂ €
N brief
Contd.
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(d) Discuss the external factors that
necessitate change.

() What are various barriers of
delegation of authority from superiors’
viewpoint ? '

Explain the Principles of sound
decision-makmg'

cientific management approach
different from Human relations approach of
ent ? critically explain. e

or

what 2 " ip i:alguf: 2f evolution of
ent thoué A Discuss the
jmpor features Of classical theories of
an en‘lent' 5+5.—.1O

\

| arious YPE® of plans ?

he © ristics of a good plalf Iso state
! the ;

|
rocess of Mana

; the P e
jscuss - co state the S€ment by

Objectives objectives (M merits  of
nt by BO].
Manageme
5+5= 10




decentralisation. Wwhy and when
deccntralisation becomes necessary

Or
What @ do’ you reaptepy span of

management ? Explain in this connections
the factors that determine 2% ideal span of

control. 3+7=10

How 1is communication ;mportant for

effective management performar_lc '
state the advantages and limitations of
informal communication- 5

or

Explain the major areas which require
managerial control in ant undertakmg. Also

discuss the limitation® of control system.
- 6+4=10

4 (Sem~-3/CBCS) MPA/G 7 13000




